Name Date
Grade 4 Addition Practice
1 7 6 8 3 4 6 9 2 9
+8 +3 +9 +9 + 6 + 8 + 1 + 3 + 9 + 6
2 5 6 1 5 0 9 3 10 10
+4 +7 +0 + 3 +9 + 1 +9 + 9 + 1 + 4
4 | 10 8 8 6 9 4 1 9
+7 +5 +3 + 8 +10 +2 +5 + 1 + 6 + 4
2 2 8 6 | 9 4 8 5 10
+2 +0 +6 + 3 + 1 + 8 + 3 + 3 +2 + 9
7 2 7 1 10 0 7 10 6 3
+7 +35 + 6 + 4 + 0 +3 +9 + 8 + 7 +2
7 8 0 5 9 3 6 5 5 4
+2 +7 + 4 +6 | +10 | +3 + 4 + 8 +3 +5
7 7 3 4 7 10 6 8 9 8
+8 +1 + 8 +9 +4 | +10 | +10 | +5 +2 +2
5 3 8 1 10 2 2 5 8 6
+5 +1 +1 +2 + 7 +3 + 8 +1 + 4 + 8
4 3 7 5 10 6 2 7 9 4
+ 6 + 10 + 0 + 4 + 2 + 6 +1 | +10 | +7 +2
3 0 6 4 9 10 5 7 5 10
+5 +0 +5 + 4 + 1 +5 + 0 +5 | +10 | + 6

All Problems are complete and correct. Congratulations!
Test completed with errors

Test incomplete, please finish and correct for accuracy




Name Date
Grade 4 Subtraction Practice
8 9 10 16 20 10 16 9 17 11
-6 -7 -2 - 3 -17 -9 - 14 -9 - 6 -9
13 19 9 3 14 13 5 8 18 18
4 | -5 | -8 | -3 | -9 |-8|=:2| 3| -8]:6
9 15 13 3 18 15 18 20 20 13
-2 -10 -1 -2 ~11 - 14 - 5 -4 - -9
9 7 10 9 16 18 16 10 14 14
-6 -1 -7 -3 -10 - 13 -8 -3 -13 | -8
12 19 18 19 15 19 11 16 13 12
3 | <16 | =18 | -7 | 215 | -14 | -5 | -5 | -10 | -8
8 7 17 10 19 13 13 17 17 11
-5 -4 -4 | -6 | -11 | -12 -7 - 10 | -17 | -4
5 7 8 15 10 12 19 14 20 8
-3 -2 -1 - 8| -4 -5 -3 -10 | -11 -2
12 17 6 17 14 17 10 20 12 20
-4 - 15 -2 -9 | -3 | -12 -5 -14 10 19
7 16 9 18 17 20 20 7 16 14
-3 -9 -5 -9 | -1 ] -1 - 3 -6 - 6 =35
15 6 12 14 5 17 15 12 18 11
-6 -6 -9 -7 -4 -15 - 10 -6 - 18 -8

All Problems are complete and correct. Congratulations!

Test completed with errors

Test incomplete, please finish and correct for accuracy




Name

Date

Grade 4 Multiplication Practice

5 4 11 12 5 8 8 3 2 12
x12 | x11 X2 X 8 X35 x4 x1 x1 | x3 x7
8 8 4 6 7 9 3 7 10 7
x5 X2 x9 x 10 X 8 X2 X8 x 1 x 10 x4
11 4 5 6 7 5 0 11 3 12
X8 X 5 X6 x4 X2 X3 x4 x5 | x3 | x10
3 10 11 9 2 10 6 5 0 5
x9 X 4 x3 x9 x4 x1 x 0 x7 | x1 x9
7 10 4 5 3 5 11 0 10 9
x11 X 6 x4 x 0 x5 | x10 | x12 | x0 | x5 x1
7 4 12 2 11 9 7 11 ) 10
x 10 X2 x4 x1 X6 x7 x0 | x10 | x6 X2
4 11 8 9 12 1 10 1 6 8
x1 x 11 x 8 X5 x12 X6 X3 x5 | x2 | xI10
12 10 6 4 2 5 8 2 9 1
x1 X9 x3 x3 X2 X2 X6 x0 | x8 x1
11 3 12 12 7 6 7 9 0 10
x1 X2 X 3 x 9 X7 x7 x6 | xl1l | x3 x 0
9 12 8 6 | 2 6 7 4 3
x3 X 6 x9 x 1 X8 x12 x9 x3 x 8 x6

All Problems are complete and correct. Congratulations!

Test completed with errors

Test incomplete, please finish and correct for accuracy




Name Date
Grade 4 Multiplication B Practice

4x9 = O9x2= 7Tx8= 6x10= Tx1=

4x4= 5x10= 3x5= 5x0= 0x0=

9x 3= 4x 8= 6x9= 3x6= 12x 6=
8x9= 2x12= Ix8= 6x1= 7x3=

8x 8= 1x6= 12x 12 = Ox5= Ix5=

6x3= 5x2= 2x2= 4x3= 2x0=

I1x1= O0x3= 7Tx6= 10x0= 3x2=

12x3= 6x7= Tx7= 12x 9= Ox11=
5x6= 5x3= Tx2= 6x4= 11x5=

12x4= O9x7= I11x6= 2 x1= I11x 10 =
7x10= 6x6= 7x0= 10x2= 4x2=

11x8= 3x3= O0x4= 12x10= 4x5=

3x9= O0x1 = 6x0= 5x9= 10x 4=
I11x3= 10x1= 2x4= 9x9= 5x7=

12x1= O9x 8= 8x6 = Ix1= 10x9=
4x1= 6x2= 10x3= 8 x10= 11x11=
8x5= 10x10= 3x8= Tx4= 8x2=

S5x12= 2 x3= E8x 1= 12x7= 4x11=
11 x2 = 8x4= 5x5= 12 x 8= 3x1 =

7x11= 10x 5= 11x12= O9x 1= 10x 6=

All Problems are complete and correct. Congratulations!
Test completed with errors
Test incomplete, please finish and correct for accuracy




Name

Date

Grade 4 Division Practice

1000 | 3)36 | 30 | DT [ 1199 | 9108 | 7H4 | AH2 | &H2 | 216
PI5 | 3933 | DO | D27 | /)35 | D81 | B8 | DO | 6)0 | HHO
DT |38 8772 | D12 | 20 | 32 | 24 | 270 | &H8 | D90
618 | D72 | 832 | 3927 | 3121 | N6 | 88 [12)2H | DBH | 6)72
10020 6)30 | 3)9 | 8)88 | B)BL | W24 | 2T/ | 3)T6 | H0 | 520
2120 | WHB | 6)36 | 10070 | 10)TI0| W2 | 666 | 763 | 700 | 2)8
7728 | W36 | 107100 | &0 | 7)7 | 6J60 | 8)566 | D18 | 824 | 8)16
10080 | 8)64 | 2012 | DH | 55 | DI | 12T™H| 6)6 | 330 | 11121
7984 | 222 | 36 | 12)60| 13 | 8)96 | 526 | H32 | N8 | T
T | 976 | 8)50 | 11977 | 00 | )0 | 516 | 1080 |12)132| 6)60

All Problems are complete and correct. Congratulations!

Test completed with errors

Test incomplete, please finish and correct for accuracy




Name Date

Grade 4 Division B Practice
120 + 10 = |16 = 3 = 30 = 6 = b = b = 24+ 4 =
8+1-= H4 - 11 = 2o + b = 6+ 3 = 60 + 12 =
21 =7 = 32 + 8 = 22 + 2 = 3+1-= b+ 8 =
0+ 10 = H2 =/ = 36 + 3 = M@=+ 1 = 108 + 9 =
o4 + 9 = /2 + 6 = 8+ 8 = 32 + 8 = 2/ = 3 =
20 + 2 = 63 + / = H8 + 4 = 110 = 10 2+ =
2+ 8= 16 + 8 = 56 + 8 = 100 =+ 10 = |HO = b =
120 = 10 = |15 = 3 = 30 = 6 = b = b = 24+ 4 =
91 = 50 + 10 = |16 = 1 = 0+3-= O+b =
0+ 6= HO =+ 4 = 8+ Y4 = 0+1-= 2/ + 9 =
Ho + 9 = 10 =1 = 33 + 3 = 3o + / = 81 + 9 =
28 + 4 = 18 + 9 = 36 + 9 = /s /= 60 + 6 =
0+ 7/ = 8+ 2 = 66 + 6 = 36 +6 = /0 = 10 =
30 =3 = 21«1 = |4 =12 = |12 =+ 2 = 4+ 1 =
HE + 6 = 90 - 9 = 4+ 2 = /2 + 8 = 12+ 1=
0-+H4-= 20 = b = M+ 2 = 9+ 3 = 88 + 8 =
80 - 10 = |6+6-= 64 - 3 = 5+ b = Ho + 9 =
1832 + 12 = |60 = 6 = b +5b-= o0 + o = 77+ 11 =
H2 + 6 = 6+ 2 = H9 = / = 0+3-= 1M=+1-=
18 = 6 = M +-12= |72+ 9= 21 + 3 = 6+ 1=

All problems are complete and correct. Congratulations!
Test completed with errors
Test incomplete, please finish and correct for accuracy






